A 100 Ib force is exerted on one side of a TV tray as shown below.
Assuming no friction forces at the base, determine all forces acting on
each of the three parts of the TV tray.

100 Ibs

[\ 1ftllft B

15t
C
1.5ft
DL E
| 00 v
‘—- 16 —l
. A |

2R <0
2F - ForrFey-lon <0

i MD =(Ftﬂ(23 (D -0

FE\' = SQ |bs
2 ——T

oy = SOl



oo |b,

gCco AL
iF,‘—Fu *ng =0 in= - cx“']:t\x=O

Z.Fy"Fd*Fm +S0 =0 iFY‘FM ‘F¢~{+50=Q

Se -+ Fald 2 M (S (Fa) (1)
~(Fon157 =0 19 = 0

VR euuehion Salyer

Fars Gl Ws  Frogz 6Ll Fexe [6L7 Ing

F‘\‘{ = =Dy, FB‘{ = -S0 |bs Fc‘{ - Q



Soloy Solio,
A T T s
Lo I <—E& 5 (6.(T le>
A
06.67 vs



jpm46
Pencil

jpm46
Pencil


